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1. 1- The unit method for measurément of elasticity of demand - l{u:;,.;j_q_ ¥dnd £ u’L:_, J...g dld 1.1
was presented by '

Alfred Marshé:{! L. J:U,ifl (B) Adam Smith 2. #»T (A)
Keynes\ i A (D)_ 4 Robbins i s, (C)

2 - Inlong run, the shape of cost curves |§ ' P dor BB L Hac it Stof .2
dish shaped d/"'f} (D) u shapé@ Vy/(C) horizontal J”l (B) - vertical (f (A)

3 - Ifthere is equal decrease in demand and shpply, then equilibrium price =8 dﬂ;’ in rf L S ke ol .,.,lbf -3
decreases < e 52 rr (B) increases dlg 2% (A)
remains the same < (,5“.: uLf {D) becomes zro & A 74 (C)

4- Indemand function, price is \ 4,-..;:?":..2 Sl SE -4
decreasing vanat?{e oi‘m- | _ dependeht variable g (a)
independent vanﬁb{e ST (D) S centinuous variable J’V (C)

5- The reward received by entrepreneur is called & U b s & 2T .5
profit b+ (D) | rent wf (C) interest’ - (B) wage =21 (A)

6 - Under perfect competition, the number of firms is ‘ o desld Sl 2 e e
five &, (D) | targe X (@) three & (B) four b (A)

7- Under perfect competition, the cufrve of Average Revenue o bnls ¥ G55 71 0 bl 3L e JF -7

and Marginal Revenue is /

concave & (D) €9 W (C) vertical (5 (B) horizontal (& (A)

8 - According to modern economistspthe law of decreasing return Kd“b .,,PB'L,J:‘F O & = Pbr ol 4 -8
is applied on | 5 < by Jubl
induﬁtry £ = (B) agriculture LA (A)

sen{’ ces ¢=lé (D) both on agriculture and industry { U ea* sl 255 (C)
9 - The measurement of elasticity between two distinct points -2 o L en L 1B Ll 1 -9
on thesdemand cupve is call

point elasticity ¢ * (B) arc elasticity § (77 (A)
-~ cross elasticity § Cw (D) income elasticity g 34T (C)
10 - When total utiity declines then marginal utility becomes e bl ¥ Fe tSul Foa - 10
zero (D) maximum ol sl (C) negative (" (B) positive =t (A)
11 - According to Alfred Marshall, economics is ol Jlbr L J%Lj/'"f =11
ehtical knowledge H‘ dwr () natural science H‘ UM (A)
social science * (26 (D) scientific knowledge #i*L- ()
(Z13s) 2




. To satisfy economic wants there is a need of

desire U7 (D) demand ¥ (C)

Marginal Revenue > Marginal

ods

AN 23
6/ q—-—d»f’fd—f-:)‘PLer?’&b‘

will ol (A)
e 2 & mp

change in price L;: K =t (A

money i (B)

change in income ot a4 (©)

= Qw25 St

different ¥ (B) same U~k (A)
e :-c,'.l;JlH‘.::.ag‘bf Wl 7 v

Marshall J7t (B) Keynes # (A

& el K urp s S g P =
unity &1 (B) group s
Sl F‘Uﬁ &y L e\ R
zero > (B) os'Q; (A
Uz ¢ b ¢ (Bl e L Sl

Q.. 4
RN

Marginal Revenue = > e «-(',; =il E;',v ®)
Marginal R%fen inal cost wi/let F s dr‘:[""; ©

13- The cause of shifting of supply curve is
change in other factors des Ji¥ ks (B)
change in demand J_ LUt (D)
14 - The fertility of land is
low =2 (D) high #k (C)
15- According to whom economics is a normative science?
Adam Smith  #77 (D) Robbins 7 (C)
16 - The aggregate of firms which are producing identical go
is called i
monopoly Uil (D) industry ==~ (C)
17 - In third stage of the law of variable proportions, marginal
productivity is
negative ¢ (D) infinite 25460 (C)
18- Under monopoly, the firm is in equilibrium where
19 -
total utility e ?
negative utility
20 - Y,

If there is equal increase in demanO
then equilibrium quantity
remainv = Guut (B)
b inite <= f}n nel (D)
223-(IWQ

Total Reven ‘%ﬂl Revenue U =i S D
Utiity derived from the first unit of commodity is cal o o s Lx S ke

initial utility e61 3L (A)
positive utility sl =4 (C)
e 315 P 3ot s s 8 oy

increases & b ox (A)

decreases q-a'.gﬁ( (C)
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Note: Section I is compulsory. Attempt any THREE (3)

Time: 2:30 Hours
Marks: 80

questions from Section IL
Section - 1 J3l o

2 - Write short answers to any EIGHT (8) questions. (2x8=186) _é‘{;@uﬁ:}‘?ﬁwuv 8) #T = Jf— 2

I-

What is meant by non-economic wants.

etV k3Gt i
_ggfq}kafb- J.@?‘?}T -1

ii- Wirite down definition of economics presented by Adam Smith.
ni- Differentiate between consumer goods and capital goods. £k G A PN T A B 1
iv - Write down any two demerits ‘of Robbin's definition. & Jle 2 rf .._-_-,J/." d/ A -iv
v - What is meant by consumer? Tl e U -v
vi- What is meant by "Point of Satiety"? fe sty e e U
vii- Define marginal rate of substitution. A S i
viii - Differentiate between independent and dependent variable. o Y Ut A B T il
ix- Write down the formula of point elasticity. v g i
x- What is meant by complementary demand? e alr L.f < b [}‘—f -X
xi- Whatis meant by extension of demand? el Vet b -xi
xii - Write down definition of Elasticity of demand. _é ..,g'/‘?d/ ‘.g J b - xii

3 - Write short answers to any EIGHT (8) questions. {2x8=16) ';é'(;avkl.iﬁﬁaﬂlr ®)#7 = dr-3

i -

Define elasticity of supply.

What is meant by market period?

E S
?,,f,_)llfy{&-.-ﬂfdﬂﬂ; -1
et g i

ui- Whatis meant by capital formation?

iv- Draw a diagram when supply is corstant but'demand falls. il H’.,J#;:F < ufl,« s S ek rlfii -iv
v - Draw a diagram of market equlibrium. ~e b rf/?li il S -v
vi- What is meant by shortrun? fe sl Ve Ko v
vii- What is meant by labour? fe sV o -vii
viii - What is m&ant by/money market? el Ve $i $o o -viii
ix- What is mednt by sleeping partner? e ol Ve b dlé - ix
x- Describe law'of decreasing returns. -2 o Mo ;,k%ﬁl? -%
xi- Define capital. ZEflA -x
xii - What is meant by external economies of scale? e sy e el Qrp -xid

4 - Write short answers to any NINE (9) questions.

i«

Write down the definition of cost of production.

(2x9=18)

E Fen Pl (9)) e -4
-.-é*—érﬁJle{g\-jjw -1
te sy Ve e bl -ii

ii - What is meant by average variable cost.
iii - Write down the formula of average fixed cost. &8 b 6 e Bl -
iv- State any two assumptions of perfect competition. CF/ o el L LG Jf s

(A13m)




Xi-

Xii -

Xili -

Note:

5~

7=

8-

-9-
5ty>/f ~23 )
Draw average revenue and marginal revenue curves under S 1B L s 7500 s bt F L G JE 5
perfect competition -k ‘-'!.f?lj
Define monopoly. A g Urnsel  -vi
What is meant by super normal profit. e sl Ve Boo ™ 415 -vid
Write down any two factors which determine the size of market. L WEd ty i S e S G -viid
What is meant by price mechanism? Ty Ve st Ju}‘f_ -ix
State the meaning of product homogenity. -igfrf" K:.:,ilff .f& -X
Write down the definition of differential rent. 2 B -xi
Differentiate between net interest and gross interest. -éf_f ] J)u:f :rs..):n:f L)‘JG - xil
What is the difference between net profit and gross profit? fe J/ Uk 81? A sl C;,l.v S -
Section - IT ('
Attempt any THREE (8) questions. -gaklﬁﬁaﬂfr (3) £e 4 s
Describe the important characteristics of economic laws. (10} J{j e el ~ Il J u: Iy u;'lr -B
How elasticity of demand is measured? o) e de J J’y, g 4 Juct -8
Write down the advantages and disadvantages of (10Y et 5 L J”F._g; sl A -
small scale production.
Differentiate between perfect and impesfé@hriaketh®  (10) LSS -8
How Malthusian theory of population is applicable in (10) ‘e tn c;fu"ubi.; u}b@ KQ’JLI'Q/!;;L u‘;f. -9
Pakistan? Discuss. 2
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